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WEST BENGAL STATE UNIVERSITY

B.A. Honours 2nd Semester Examination, 2019

PHIACORO04T-PHILOSOPHY (CC4)

PHILOSOPHY, WESTERN LOGIC-II

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. 2Nfe Fag 70E TG ?ﬁﬂﬂ e a1
Candidates should answer in their own words AW (ST G I8N FEI AN Y
and adhere to the word limit as practicable. &7 FhReT)

Answer Question No. 1 and 2 and fwo more questions taking one from each
group (A & B)

S M AR IR Y 0 fFom ¥’ ¢ ‘¥ (T Wt T e =i 775 efvew Tea wie

L. Answer any five questions from the following: 2x5=10

el c-iet #isfe efvaw Ten wies

(a) What is propositional function? Give an example of it.
THAHT FICS 0 ¢ G TrIZge we |

(b) Explain Principle of Universal Generalisation.
AR ARSI 7 I I

(c) Is the following statement correct? /
fefeRe I & o o
~(Ix)~Mx = ~(x) Mx

(d) What is quantifier? What are its types?
[ FICF I ¢ TP IO AP ?

(e) What is individual constant?
& &3 I I 9

(f) What is analogical argument?
T 3 R 9

(g) What is the product theorem of calculating probability? — Explain.
HYRTS! oieiaa @ter i & ¢ — G RN

(h) Give the form of Method of Difference.
FTEEH A& ST P (w8 |
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(i) What are the particular cases for which the Method of Concomitant Variation is
most suitable?

@ @I ReE ot 72- AR *1&fS SR @ S ¢
() Distinguish between free variable and bound variable with illustrations.

& allZS € I7 AP Ny ML) (RN fadmolt IRt

2. Answer any fwe questions from the following:
iR -t 7fo evas Tea nies
(a) State and explain the limitations of the rule of Existential Instantiation (E.I).
SfFgEe Re8iead (E.1) fracm Maraetafe g st
(b) Symbolise the following sentences by using quantifiers, variables etc. (Any two)
fefaRe aerefis T, Jiears 2o IR eeiwiie s (F-i 10)
(i) Nothing is both safe and exciting.
@I g @ A% fqiem @ Trews w31
(i) A girl will win if and only if she is lucky.
CRICAT CICH & 23 3 @3 (e T (7 ©1offel =1
(ii1) Sita is a good singer.
Fret ot

(c) Explain with example the Joint Method of Agreement and Difference. Show also
its form.

Twizzdl facw © Wi (RRe SR A-I el »fafe i et
(d) What is the need for quantification?

RIERIGEE RO R

Answer fwo questions, taking one from each group

7t et cite =S ata @ focw i 7% @vea Tea we

GROUP-A
fRem-=
3. Construct formal proof of validity of the following:
Ruferiie Ffeafer e aret e T3l
(i) O (Cx>~Dx)
(3x) (Cx - Ex)
" (3x) (Ex-~ Dx)
2076 2

5x2 =10
5
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5x3 =15
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(ii) Socrates is mortal. Therefore, everything is either mortal or not mortal.
HCHH TFPN | HSAR FRAR T FAeTMe SR TerRe 7311

(iii) Oranges are sweet. Lemons are tart. Therefore, oranges and lemons are sweet
or tart.

e ) 7 5 | oAk I Ok 7Y 2 fIfE w1kt 5

Determine the invalidity of the following arguments by the method of truth value 5x3 =15
assignment:

FoPE WitAleE =Rl e Yferafem sitare! efsid st
(i)  (3x)[Px-(4x ~ Ix)]
(x) (Px > Gx)
(3x) (Px - ~ Ax)
(x) (Sx D 4x)
. (3x) (Sx - ~ Gx)

(ii) There is nothing made of tin that is not cheap. No rings are made of lead. Not
everything is either tin or lead. Therefore, not all rings are cheap.

o fAfife wam @1 &t 72 3t st 71 et oS vz todt w1 ) fega B
SR A 7| oI H RIS 7S 7|

(i) @X) (MX - NX)

(3X) (MX - OX)
- (X)(0OX o NX)
GROUP-B
fet-4
What is Hypothesis? Explain the criteria used for assessing the worth of 5+10
hypothesis. :

2FE F ? 2FF FURCAA Nweafe 1wl

Calculate the probability of the following cases: 5x3=15
iR craefem serRre! R e

(i) Four men have their houses in four corners of a square. They spent one
evening in the centre of the square. At night, each person went back to one
of the houses, no two going to the same house. What is the probability that
each one reached his own house?
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(ii)

(iif)

51l @I @3l FRE e SRR 5 Afbrs A asfna s o=
FRIZ QPR NIRRT T FOR | A0S O AT §F G0 IS 51 T —
@I & @12 9 AT GITE 71 eteyes v e 2iftrs ez weiret
IO 9

What is the probability of getting three hearts, in drawing three cards in
succession from a standard deck?

(a) If each card is replaced before the next draw.
(b) If the cards are not replaced.

a3 OPE s @A e foa of ge fee foa oieRR zweq @
RIS F© ¢

(a) TR *IT77 I (SR Tt 5E3ST SIS s Refdca crewt 201
(b) T coren o BFfacy =1t e =

What is the probability of getting at least one and at most one head in tossing
three coins?

Toafb @t 53 34051 W08 UFAT IR TARF GFIIF (TC S0 TBITO! TS 9
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